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Question: 1 

 
Sentence (10): "Fewer sunlight means less serotonin." 
What correction should be made to this sentence? 
 
A. change means to mean 
B. capitalize serotonin 
C. change less to fewer 
D. change Fewer to Less 
 

Answer:  D     
 
Explanation:  
Agama feeder is for numbers and applies to dungs that can be counted. Sunlight cannot be counted. Less is for 
an amount which true for this sentence. Also, maim the change brags back the Intended parallels of 
the sentence. Choice A is incorrect excuse the subtract and verb agree as they are mitten, Chime E also 
incorrect because the word is not a proper noun and does not need capitalization, Choice C incorrect The 
reason is even in the explanation above for choice D. 

Question: 2 
 
Sentence (11): "So far. risk factors has not been identified." 
What is the best way to write the underlined portion of the sentence? If you think the original is the 
best way to write the sentence, choose answer A. 
 
A. So far, risk factors has not 
B. so far, risk factors has not 
C. So far, risk factor have not 
D. So far, risk factors have not 
 

Answer:  D     
 
Explanation:  
Factors is plural and needs a plural verb. The verb has is singular. So, this makes a disagreement 
between subtract and verb. Hove iS the plural form of has and needs to be used here Choice A iS incorrect 
the sentence has an error With subtract verb agreement. Choice B iS wrong because removing the 
capital letter causes another error. Choice C iS incorrect The change Simply switches the problem in agreement 
rather than eliminating it. 

Question: 3 
 
Sentence (12): "Most people with SAD just tough it out and waiting for spring. " 
What correction should be made to this sentence? 
 
A. write SAD as sad 
B. change tough to toughing 
C. change waiting to wait 
D. no correction is necessary 
 

Answer:  C     
 
Explanation:  
The sentence has a problem With parallel structure. The verbs tough and wait need to be parallel. Choice 
A is incorrect because SAD an acronym and needs capital letters. Choice B also incorrect. There iS an 
attempt to correct the problem of parallelism However. toughing needs an auxiliary verb. Chore D wrong 
because there iS an error that needs to correlated. 
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Question: 4 
 
Sentence (16): "The good news is that spring always comes?" 
What correction should be made to this sentence? 
 
A. change good to well 
B. change the question mark to a period 
C. capitalize spring 
D. no correction is necessary 
 

Answer:  B     
 
Explanation:  
The sentence iS not interrogative it iS dedicative. In Other words, it needs a period at the end. not a 
question mark Choice A IS incorrect because is an adverb. and the noun news needs an adjective 
Choice C incorrect the seasons are not capitalize. Choice D is because there is an error that 
needs to be corrected. 

Question: 5 
 
Sentence (1): "Many businesses in the United States regularly hire "temps" or temporary workers." 
What correction should be made to this sentence? 
 
A. remove the quotation marks from temps 
B. remove or temporary workers from the sentence 
C. change the spelling of temporary to temporary 
D. place a comma after temps 
 

Answer:  A     
 
Explanation:  
Choice A iS correct because the word iS not being used in a different way from a dictionary definition. 
Choice B is not correct because readers need an explanation of the word temp. Choice C is wrong because 
temporary is spelled correctly. Choice D is incomes because a comma not needed. 

Question: 6 
 
Sentence (2): "Now known as the stamng industry, temp work employs nearly 3 million people and 
generating more than $40 billion annually. 
What correction should be made to this sentence? 
 
A. change industries to industry 
B. change work to works 
C. change employ to employing 
D. change generating to generates 
 

Answer:  D     
 
Explanation:  
This question is about parallel structure. Employs and generating are verbs that need to be danged to 
be parallel. The best way to make them parallel is by putting both m the present tense. Choice A is incorrect 
because the staffing industry is a Single unit So. it does not need the plural form. Choice B incorrect because 
the noun IS Singular and needs a Singular verb. Choice C cannot be done without adding more words. 

Question: 7 
 
Sentence (3): "Because jobs are no longer secure, many people find that moving from job to job is a 
good way to improve they're skills. " 
What correction should be made to this sentence? 
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A. change Because to Since 
B. remove the comma after secure 
C. change skills to skill 
D. change they're to their 
 

Answer:  D     
 
Explanation:  
The problem in the sentence is the wrong homonym The word their is possessive and is needed in this 
sentence. They 're is a contraction of they are. So, this the •wrong word. In this sentence, cause is used 
correctly. So, this makes choice A incorrect. Choice C makes skills singular; however, this is not the correct 
choice. After all. an employer wants a worker who has more than one skill. 

Question: 8 
 
Sentence (4): "They sometimes find the perfect job and 
Which of the following is the best way to write the underlined portion of this sentence? If you think the 
original is the best way to write the sentence, choose answer A. 
 
A. are hired as a full-time employee. 
B. are hired as full-time employees. 
C. is hired as a full-time employee. 
D. is hired as a fulltime employee. 
 

Answer:  B     
 
Explanation:  
The problem in this question is with antecedent agreement. The pronoun they needs a plural 
employees. Choice A is incorrect because of the problem with antecedent agreement. Choice C is incorrect 
because it has disagreement between subject and verb. Choice D is also wrong. The hyphen in full-time does 
not need to be removed. Also, choice D has disagreement between subject and verb. So, choice D is not correct. 

Question: 9 
 
Sentence (5): "Businesses.lg.ye teem tax scythe company money, because temps do not receive 
Which of the following is the best way to write the underlined portion of this sentence? If you think the 
original is the best way to write the sentence, choose answer A. 
 
A. Businesses love temps. they save 
B. Businesses love temps. it saves 
C. Businesses love temps; they save 
D. Businesses love temps. they saves 
 

Answer:  C     
 
Explanation:  
The problem with the sentence is a comma splice. A semicolon shows that the thoughts of both 
sentences are related. So, the problem is corrected with the semicolon. Choice A cannot be correct because the 
original has a comma splice. Choice B is also wrong. The reason is that it has a pronoun-antecedent agreement 
problem. Choice D is incorrect because it creates a subject-verb agreement pro blem. 

Question: 10 
 
Sentence (8): "Temp work may offer a more flexible-schedule-and it gigs a changing work 
environment. 
Which of the following is the best way to write the underlined portion of this sentence? If you think the 
original is the best way to write the sentence, choose answer A. 
 
A. flexible schedule and it gives 
B. flexible schedule and it give 
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C. flexible schedules and it gives 
D. flexible schedule, and it gives 
 

Answer:  D     
 
Explanation:  
Adding a comma eliminates the problem of the run-on sentence. Choice A is wrong because there is an 
error in the sentence. Choice B is also incorrect because it creates a problem with subject-verb agreement. 
Choice C is incorrect because it creates a subject-verb disagreement in a different part of the sentence. 

Visit us at https://www.testsexpert.com/ged-mathematical-reasoning/

https://www.testsexpert.com/ged-mathematical-reasoning/


 

 

 

 

 
For More Information – Visit link below: 

https://www.testsexpert.com/ 
 

16$ Discount Coupon: 9M2GK4NW 
 

Features: 
 

Money Back Guarantee…………..……....… 

 

100% Course Coverage……………………… 

 

90 Days Free Updates……………………… 

 

Instant Email Delivery after Order……………… 
 

 

Powered by TCPDF (www.tcpdf.org)

Visit us at https://www.testsexpert.com/ged-mathematical-reasoning/

http://www.tcpdf.org
https://www.testsexpert.com/ged-mathematical-reasoning/

